

Exam 1 - Friday 10/9. (also in monday!s Ucher notes) - Email ul exam info later day - Solutions to study guide problems later to day also

(compute by PREF/row reduction)
= Set of dependencies bestween volumns of A

 $:= \left\{ \frac{1}{x} \middle| A \vec{x} = 0 \right\} = \text{Set } A \text{ Solutions to} A = 0$ ku (A)

$$A = (\vec{v}_1, \dots, \vec{v}_N) \quad \vec{x} = (\vec{v}_1)$$
Then
$$A\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_2 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{x} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{v} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{v} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{v} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{v} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{v} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec{v}_N\vec{v}_N))$$

$$\vec{v} = (\vec{v}_1, \dots, \vec{v}_N) + (\vec{v}_1\vec{v}_1 + \dots + (\vec$$

Ax=0 has solutions from PREF

=) dem (ker (A)) = # of free variables

Img (A) = { ~ | Ax = ~ } = R

2 all of the vectors or sum that

 $A\hat{x} = \hat{v}$ has a solution

16. a production reporting

Amxn

Span of Whenns of A dim (mg (A)) = size of a basis of the span of blumns of A pich out out = dim (spon (v, --, vn)) = = # 16 independent whemers = column of leading 1's = # of leading 1's. = rank(A) in PREF is eith fur or has a leading I. Every wlumn -) rank-nullity yearen din(lw(A)) + dm (mg(A)) = n

% ** (mportun)! total # 1. columns. N# for vors t rading = ** matrix ned not ne square! 311 coing (A) = Img (AT) = span of nows of A dim (wing(A)) = # of leading 1's = dim (coing (A)) son (A) rankl AT) = Eun Maugh PREF (A) and PREF (AT) have the same number of leading 1's, they won't my the same exact matrix. = # 16 rows 16 U's }
in RAFF(A).
Will be next color $(A) = \text{ler}(A^T)$, dim (color(A))

Solve
$$2x - y - 5z + \omega + u = 0$$

 $x + 3y + z + \omega + 2u = 0$

$$\begin{pmatrix} 2 & -1 & -5 & 1 & 1 \\ 1 & 3 & 1 & 1 & 2 \\ 2 & 0 & -4 & 0 & -2 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \\ w \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 2 & -1 & -5 & 1 & 1 \\ 1 & 3 & 1 & 1 & 2 \\ 2 & 0 & -4 & 0 & -2 \end{pmatrix} \xrightarrow{\text{PREF}} \begin{pmatrix} 1 & 0 & -2 & 0 & -1 \\ 0 & 1 & 1 & 0 & 0 \\ 0 & 0 & 0 & 1 & 3 \end{pmatrix}$$

$$\chi = 2x + u$$

$$\chi = -x$$

$$w = -3u$$

$$w = -3u$$

$$w = 80 \text{ lunion set to } B\vec{x} = \vec{0}$$

 $= \begin{pmatrix} 2 + \kappa \\ -2 \\ -3\kappa \end{pmatrix} - \begin{pmatrix} 2 + \kappa \\ 0 \\ 0 \\ 0 \end{pmatrix} + \begin{pmatrix} \kappa \\ 0 \\ 0 \\ 0 \\ 0 \end{pmatrix}$

$$k_{or}(B) = span \left\{ \begin{pmatrix} 2 \\ -1 \\ 0 \end{pmatrix} \right\} + \begin{pmatrix} 1 \\ 0 \\ 0 \\ -2 \end{pmatrix} \right\}$$

$$k_{or}(B) = span \left\{ \begin{pmatrix} 2 \\ -1 \\ 0 \\ 0 \end{pmatrix} \right\} + \begin{pmatrix} 1 \\ 0 \\ 0 \\ -2 \end{pmatrix} \right\}$$

$$k_{or}(B) = span \left\{ \begin{pmatrix} 2 \\ -1 \\ 0 \\ 0 \end{pmatrix} \right\} + \begin{pmatrix} 1 \\ 0 \\ 0 \\ -2 \end{pmatrix} \right\} + k_{or}(B) \text{ or } a \text{ span } b$$

$$k_{or}(B) = span + k_{or}(B) + k_{$$

$$\begin{pmatrix} 2 & -1 & -5 & 1 & 1 \\ 1 & 3 & 1 & 1 & 2 \\ 2 & 0 & -4 & 0 & -2 \end{pmatrix} \begin{pmatrix} -1 \\ 0 \\ 0 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$$

$$2 \begin{pmatrix} 2 \\ 1 \\ 2 \end{pmatrix} + (-1) \begin{pmatrix} -1 \\ 3 \\ 0 \end{pmatrix} + 1 \begin{pmatrix} -5 \\ 1 \\ -4 \end{pmatrix} = 0$$

Solve for This victor

$$\begin{pmatrix} 2 & 1 & 3 & 1 & 1 & 2 \\ 2 & 0 & -4 & 0 & -2 \end{pmatrix} \rightarrow \begin{pmatrix} 1 & 1 & 0 & 0 \\ 0 & 0 & 1 & 3 \end{pmatrix}$$

$$\begin{pmatrix} -5 \\ 1 \\ -4 \end{pmatrix} = -2 \begin{pmatrix} 2 \\ 1 \\ 2 \end{pmatrix} + 1 \begin{pmatrix} -1 \\ 3 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} -2 \\ 1 \\ 0 \end{pmatrix} = -2 \begin{pmatrix} 0 \\ 0 \end{pmatrix} + 1 \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} -2 \\ 1 \\ 0 \end{pmatrix} = -2 \begin{pmatrix} 0 \\ 0 \end{pmatrix} + 1 \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2} \\ 0 \\ 0 \end{pmatrix} = 3^{1/2}$$

$$\begin{pmatrix} 3^{1/2}$$

3rd Whenn depends on frist 2. (%) & her(8)

$$rank(B) = \# \left\{ \left(\frac{2}{2} \right), \left(\frac{-1}{3} \right), \left(\frac{1}{6} \right) \right\}$$

$$= \# \left\{ \left(\frac{2}{2} \right), \left(\frac{-1}{3} \right), \left(\frac{1}{6} \right) \right\}$$

$$= \# \left\{ \left(\frac{2}{2} \right), \left(\frac{1}{3} \right), \left(\frac{1}{6} \right) \right\}$$

$$= 3 = \# \text{ w. bending } 1^{1}s = \text{dim} \left(\text{Img}(R) \right)$$

$$= \# \left\{ \left(\frac{1}{2} \right), \left(\frac{3}{0} \right), \left(\frac{1}{0} \right) \right\}$$

$$= 3 = \# \% \text{ leading } 1 \text{ is } = \dim (\text{Ims}(R))$$

$$= 3 = \# \psi_b \text{ leading } 1's = \dim(\text{Img}(B))$$

$$= 3 = \# \psi_0 \text{ beading } 1^{1}s = \dim(\text{Ims}(R))$$

$$= 3 = \# \text{ y tending } I$$

$$\text{der}(\text{Ver}(B)) = 2$$

$$2+3=5=\# \% \text{ columns}$$

The The following are equivalent! (NXN Li A) 1) A decomp

2) A decomp

3) permutes us decomp (A | I) - (I | A-1) 4) det $(A) \neq 0$ 6) rank(A) = n6) ker (A) = 0(# column: - hading 21; = dim le (A)) 7) Columns forma basic × 8) rows furm a basis & IR" *

 $A \rightarrow T$ $A \rightarrow T$ A

Shows the independent = dim $\{0\} = 0$.

Shows the independent = dim $\{0\} = 0$.

Shows the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

Show the independent = dim $\{0\} = 0$.

$$\begin{pmatrix}
-1 & 2 & 1 \\
2 & 5 & 2 \\
0 & 3 & 3
\end{pmatrix} = \begin{pmatrix}
-1 \\
2 \\
3
\end{pmatrix} + \begin{pmatrix}
2 \\
5 \\
3
\end{pmatrix}$$

$$depress on V,V$$

$$A^{-1} docsn't exist!$$

$$V = 12^{2} \qquad \begin{pmatrix}
1 \\
1
\end{pmatrix}, \begin{pmatrix}
1 \\
-1
\end{pmatrix} \quad \text{is a basis of } \mathbb{R}^{2}$$

If
$$c_{i}(\frac{1}{1}) + c_{i}(\frac{1}{-1}) = \binom{0}{0} \implies c_{i} \leq 0$$

$$\binom{1}{1-i}\binom{c_{i}}{c_{i}} = \binom{0}{0}$$
So indignalize $\binom{c_{i}}{1-i}\binom{c_{i}}{1-i}\binom{c_{i}}{1-i}\binom{c_{i}}{1-i}$

Every vector
$$\begin{pmatrix} x \\ y \end{pmatrix} \in Span \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}, \begin{pmatrix} -1 \\ 1 \end{pmatrix}$$
. Step Span R^2

Are all suprems $\begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} c_1 \\ c_2 \end{pmatrix} = \begin{pmatrix} x \\ y \end{pmatrix}$ consistent?

$$\begin{pmatrix} c_1 \\ c_2 \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$= \frac{1}{2} \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$\zeta^{2} = \frac{7}{7} \times -\frac{7}{7}$$

$$\zeta^{1} = \frac{5}{7} \times +\frac{7}{7}$$

$$\zeta_2 = \frac{1}{2} \times -\frac{1}{2}$$

$$\left(\frac{1}{2}\times + \frac{1}{2}\right)\left(\frac{1}{1}\right) + \left(\frac{1}{2}\times - \frac{1}{2}\right)\left(\frac{1}{1}\right) = \left(\frac{3}{2}\right)$$

 $= \frac{5}{7}\left(\frac{1-1}{1-1}\right)$

 $\begin{pmatrix} x \\ y \end{pmatrix} \in Span \begin{pmatrix} 1 \\ 1 \end{pmatrix} Span R^{2}$

Every basis of Ru has 4 vectors $\begin{pmatrix} 1\\3\\0\\1 \end{pmatrix}, \begin{pmatrix} -1\\2\\3\\0 \end{pmatrix}, \begin{pmatrix} 1\\2\\3\\0 \end{pmatrix}$ Could never span (\mathbb{R}^4) not enough dimensions
spa # 184, not span

Image b a matrix
$$A = (\vec{v}_1, \dots, \vec{v}_h)$$

 $ing(A) = Span (columns (A))$ kg

 $sing(A) = cpa (wlunns) = \begin{cases} 4\vec{v}_1 + \dots + cn\vec{v}_n \end{cases}$ $c_1 \dots c_n$ $c_n \dots c_n$

 $= \left\{ v = A \overrightarrow{x} = c_{1}\overrightarrow{v}_{1} + \cdots + c_{n}\overrightarrow{v}_{n} \right\}$

din (mg(A)) = # 16 independent columns

know this?

coing (A) =
$$lmg(A^T)$$
 = $span$ when lmn lm

$$A = \begin{pmatrix} \frac{1}{2} & \frac{1}{3} \\ \frac{2}{3} & \frac{1}{3} \end{pmatrix}$$

$$A^{T} = \begin{pmatrix} \frac{1}{3} & \frac{2}{3} \\ \frac{1}{3} & \frac{2}{3} \end{pmatrix} = \omega_{1} m_{3}^{2} (A)$$

$$= Span & now i & A$$